Phys 410
Spring 2013, Prof. Anlage
8 February, 2013

Problem 1. Consider a small frictionless puck perched on the top of a fixed sphere
of radius R. If the puck is given a tiny nudge so that it begins to slide down,
through what vertical height will it descend before it leaves the surface of the
sphere?

Hint: Use conservation of energy to find the puck’s speed as a function of height,
then use Newton’s second law to find the normal force of the sphere on the puck.
At what value of this normal force does the puck leave the sphere?
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Is the following force conservative?
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where a, b, ¢ are constants.

ot % (axst-aeet) -(ay —ey) 13(az -a2)

/)

Xo(e) —g (o) (<)

= O /

Thee means \-H\a_/{‘ Ha_ wcrk CalcquM Aram FAR %/Cér'v( /)cm% mﬂ"ﬂeﬂczﬂ“

Th adddhas C = Q\:(%,),l—):ﬁ(?-) andl deer et oé’eyz,,gﬁ
on U‘C’/loculy , "hff\e_( et(’é.

‘—L@Né o Ao Cardihar are SaAisfeed =) Fv\ coverativ

Is the following force conservative?
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